	RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Supporting and Committing to Participate in the
1	October 21, 1994 O'Odham in Mexico Strategic Planning
2	Meeting to Develop an Action Plan to Resolve the Seven Principles Identified by O'Odham in Mexico)
3	RESOLUTION NO94-360
4	WHEREAS, People from all backgrounds and races gathered on July
5	
6	29 & 30, 1994 at the Educational Conference on Human
7 8	Rights for O'Odham in Mexico, to learn more about the
9	Seven Principles for which the conference was
10	established, they include:
11	1. Land Rights and illegal encroachment in Mexico;
12	2. Sacred Sites, ancient dwellings, catacombs, and
13	ceremonial sites;
14	3. Endangered species of plants and animals;
15	4. Rights of O'Odham under international law;
16 17 18	5. The impact of the North American Free Trade Agreement and other border/labor issues;
19	6. Report on legal status of O'Odham in Mexico;
20	7. Border Crossing Issues; and
21	WHEREAS, the Traditional O'Odham Leaders (TOL) agreed to gather
22	on October 21, 1994 in the form of think tanks with all
23	
24	Sectors of the Tohono O'Odham Nation, especially its
25 26	elected leadership, to develop a Strategic Plan to resolve
27	the Seven Principles.
28	NOW, THEREFORE, BE IT RESOLVED by the Legislative Council that it
	hereby supports and commits to participating in the

RESOLUTION NO. 94-360 (Supporting and Committing to Participate in the October 21, 1994 O'Odham in Mexico Strategic Planning Meeting to Develop an Action Plan to Resolve the Seven Principles Identified by O'Odham in Mexico) Page 2 of 3

October 21, 1994 Strategic Planning Meeting to develop strategies for resolution of the Seven Principles/Problems identified by the Traditional O'Odham Leaders (TOL).

BE IT FURTHER RESOLVED by the Legislative Council that it will support this effort by communicating information to their respective districts and interactions with local, state, federal, and world officials in order to obtain their support and participation in these critical matters to improve the quality of life for O'Odham in Mexico.

The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the <u>13TH.</u> day of <u>SEPTEMBER</u>, <u>1994</u> at a meeting at which a quorum was present with a vote of <u>1,763.0</u> FOR; <u>-0-</u> AGAINST; <u>-0-</u> NOT VOTING; and <u>06</u> ABSENT, pursuant to the powers vested in the Council by Section <u>1()</u> of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

TOHONO O'ODHAM LEGISLATIVE COUNCIL

Alex J. Ramon, Legislative Chairman

day of soptember, 1924

1	(Supporting and Committing to Participate in the October 21, 1994 O'Odham in Mexico Strategic Planning							
2	Meeting to Develop an Action Plan to Resolve the Seven Principles Identified by O'Odham in Mexico)							
3	Page 3 of 3							
4 5	ATTEST:							
6	Veresa Sr. Chomenha							
7	Teresa M. Choyguha, Legislative Secretary							
8	15th day of September, 1994.							
9								
10	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham Nation on the \tag{\lambda} day of							
11	provisions of Section 5 of Article VII of the Constitution and will							
12	become effective upon his approval or upon his failure to either							
13	approve or disapprove it within 48 hours of submittal.							
14	TOHONO O'ODHAM LEGISLATIVE COUNCIL							
15								
16	Clast Lans							
17	Alex J. Ramon, Legislative Chairman							
18								
19	MAPPROVED on the 6 day of oplante, 1994							
20	[] DISAPPROVED at // 43 o'clock,M.							
21								
22	SYLVESTER LISTO, Chairman							
23	TOHONO O'ODHAM NATION							
24	77							
25	Returned to the Legislative Secretary on the 16th day of							
26	September, 19 94, at 4:05 o'clock, p.M.							
27								
28	Veresa M. Chommha							
20	Teresa M. Chovenha, Legislative Secretary							

ACTION:

SUPPORTING AND COMMITTING TO PARTICIPATE IN THE OCTOBER 21, 1994 O'ODHAM IN MEXICO

STRATEGIC PLANNING MEETING TO DEVELOP AN ACTION PLAN TO RESOLVE THE SEVEN PRINCIPLES

IDENTIFIED BY O'ODHAM IN MEXICO

MOVED:

COUNCILMAN EUGENE ENIS

SECOND: COUNCILMAN MANUEL OSEQUEDA, JR.

DATE:

SEPTEMBER 13, 1994

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 151.0	1. WILLARD JUAN, SR. (Delbert Thomas)	75.5	x			
	2. MARY ANN ANTONE (Nellie Miguel)	75.5	x			х
SELLS 290.0	1. ANDREW M. PATRICIO (Lucille Encinas)	145.0	х			х
	 JOSEPH T. JOAQUIN (Allen W. Garcia, Jr.) 	145.0	X			
SCHUK TOAK 113.0	FRANCES FRANCISCO ()	56.5	х			
113.0	2. KENNETH J. ANTONE ()	56.5	x			x
SAN XAVIER 135.0	1. EUGENE ENIS, SR.	67.5	x			
135.0	2. DENNIS RAMON ()	67.5	x			х
BABOQUIVARI 230.0	FRANCES MIGUEL ()	115.0	x			
230.0	2. EARL A. FRANCISCO ()	115.0	x			
GU ACHI	1. WILLARD ANITA ()	90.0	х			
180.0	2. ALEX J. RAMON (Marian Johnson)	90.0	x			
PISINEMO 128.0	CHESTER ANTONE (Fernando Valentine)	64.0	x			x
128.0	2. JOHNSON M. JOSE (Roseleen Antone)	64.0	x	<u> </u>		
SAN LUCY	1. JOHN RENO	49.0	х			х
98.0	2. ALBERT MANUEL, JR. (Ernestine Marquez)	49.0	x			
GU VO	1. EMILIO LEWIS	62.0	x			
124.0	2. MICHAEL FLORES (Fern Salcido)	62.0	x			
HICKIWAN	MANUEL OSEQUEDA, JR. ()	68.0	x			
136.0	2. LLOYD FRANCISCO	68.0	x			
CHUKUT KUK	1. MARILYN FRANCISCO	89.0	х			
178.0	2. KENNETH WILLIAMS ()	89.0	x			
	TOTAL	1,763.0	1,763.0	-0-	-0-	06